



Name: _____

Date: _____ Score: _____

$$\left(-\frac{3}{4}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^3 - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right) - \frac{1}{5} =$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{2}{5} =$$

$$\left(\frac{2}{5}\right) + \frac{3}{5} =$$

$$\left(\frac{1}{3}\right)^0 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right) + \frac{3}{5} =$$



Name: _____

Date: _____ Score: _____

$$\left(-\frac{3}{4}\right) + \left(-\frac{1}{5}\right) = \left(-\frac{19}{20}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{6} = \frac{1}{24}$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{2}\right) = 0$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{2} = \frac{71}{250}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) = \frac{14}{45}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{31}{180}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{3}{4} = \left(-\frac{1}{2}\right)$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{2} = \frac{141}{250}$$

$$\left(\frac{1}{6}\right)^3 - \frac{3}{5} = \left(-\frac{643}{1080}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) = \frac{3}{4}$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{1}{6}\right) = \frac{131}{750}$$

$$\left(-\frac{1}{2}\right) - \frac{1}{5} = \left(-\frac{7}{10}\right)$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{4}\right) = \frac{5}{16}$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{6} = \frac{29}{192}$$

$$\left(-\frac{1}{6}\right)^3 - \frac{2}{5} = \left(-\frac{437}{1080}\right)$$

$$\left(\frac{2}{5}\right) + \frac{3}{5} = 1$$

$$\left(\frac{1}{3}\right)^0 - \left(-\frac{2}{5}\right) = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) = \frac{11}{40}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{103}{180}\right)$$

$$\left(-\frac{1}{2}\right) + \frac{3}{5} = \frac{1}{10}$$